N = 0 &8 AF 2 9 Al M
20209 &= 20l A 2 BHS H 23kt
EX: S22
M. 2lMs=XE L NESFIEIR=E
Sl 2aAle 22 (el @2)
SN EB S (3H) - NEAY - BES ofl &k o San HDE2
S22 38,764,453 42,903,043 A 4,138,590
= 9,748,666
Dl 115,000
Al 5,198,994
= 23,701,793
S3=rE L XNESF0|etR= 7,552,062 8,885,610 A 1,333,548
Al 401,000
= 7,151,062
S3tAlE 22l 3,954,262 5,343,410 N 1,389, 148
Al 73,000
= 3,881,262
LAL2EA 2H 305,864 289, 161 16,703
101 @121l 29,892 29,189 703
04 JI2ZtH 22 XNEE S 29,892 29,189 703
02LLYELESH 2H(2Y) 29,892
[OPIR==] 68,7203 x2H x 125 17,180
oY 68,720& x2H 58 7,972
OuWEH| 5,000& 2% 125 1,250
O3 &l 5,000 *x2H x125& 1,250
OIESY 1,440
. BH S At 40,0003 x2H 6 480
=Hl = 80,000& x2H ~6& 960
OY &SIyl 400,000& 2H 13| 800
201 LEr2 Y| 153,772 145,772 8,000
01 At 2t2l ] 73,732 70,572 3,160
O bt=2H| 48,552
OclEx & E2SAM oI &L M
1,000& *10, 0004 10,000
OANEREEE 500,000& x12& 6,000
ONAA 28850 B2M &X
750, 000& =8I 6,000
O&AIA A=H| 5,000,000& 5,000
O8 =9 M 80,000& x12& 960
Otlz2=sg 12,0003 x3E5 «12& 432
OMx=32e! 25,000 *2CH x12& 600
O&IIHEEAZ 180,000& *12& 2,160
OAYUMMEHS 300,000& »2& 600
O=Roddl & CCTV 22| 84a
300,000& ~12& 3,600
Ooxd el 400,000 x12& 4,800
OZHOIX RN 400,000 x12& 4,800
OsdIl FNE% 300,000 x12& 3,600
o Xz 4,980




2N S22
Iu: 2SS L NASHI TS
SR 2IAE 22 (e &)
SH-HH . B(SH) - HBAMY - B2 o AF o San H D2
O= A 110,000& = 1CH x12& 1,320
O8] 55,0002 *1CHx12& 660
O3J188 £ HM&DI 50,000& *5CH x12& 3,000
Ost=2s 283 A3l 200,000& 200
0¥+ HEF(ZHE) M
4,000& *10& 500 20,000
02 35244l 35,040 30,200 4,840
o332=2 % HA 27,040
(OFsPIETE= 1,900,000& x12& 22,800
O&dl==22 100,000& = 12& 1,200
Odze2 170,000& = 12& 2,040
Od9Zx28 ZHMab(HS, =2D1)
1,000,000& 1,000
OA&E &Yl KXl 8,000
OALRR HE =4 3,000,000& 3,000
O&FM S 5,000,000& 5,000
03 SHALS H b 45,000 45,000 0
O2d 4 410 =2H 10,000,000& 10,000
O&MANZZ O L A A 35,000
OZ<2o oz2s 20,000,000& 20,000
OflEg =22ME 15,000, 000& 15,000
301 Bt ™M= 52,200 52,200 0
ERIEENE 52,200 52,200 0
OSSHHAA £Z 50,0008 *1Z*27L 128 16,200
OUHEZ DA ALY
150, 000& *80 Al 2+ *3H 36,000
401 Al HI L 2 0HHI 50,000 50,000 0
01 A& HI 50,000 50,000 0
OXYET DINELX AE B &L QA AHZ
A S 50,000,000& 50,000
405 XH&HFE SHI 20,000 12,000 8,000
01 JHMt = S F S HI 10,000 7,000 3,000
ORE =&8(1LM 8) 10,000,000& 10,000
02 S A7 10,000 5,000 5,000
O M-I 10,000,000& 10,000
2T 29 A& 128,480 126,064 2,416
Al 10,000
= 118,480
307 QI2t0| & 128,480 126,064 2,416
Al 10,000
= 118,480
03 AAHNEES2EHEX 128,480 110,354 18,126




2N
X ZH -
L= B

el

HO MO Mo
fon o ton

=z =

W M ok

™
% Olon

He

pal

1

Ho

tol

S|

rc

4

]

SA - BB B () - MM - BES Ol &t o San HmEET
O2sY HE2IH EX 128,480
OME=FQ A 40,820,000 40,820
Al 10,000
s 30,820
OMSR Q2| 58,720,000& 58,720
O3t SHO0IX e 4,320,000 4,320
(OZAN Jh=-PNR=PUE == 7,960,000 7,960
Obt&F& =#=cldl 1,000,000 1,000
O=2st&d 2tg3sl & 324l 6,000,000& 6,000
O=+==23& HX0oH2 1,500,000 1,500
O=AMI ¥ E=J] Xt 180,000& = 12& 2,160
OARE PC #¥ 1,200,000& *5CH 6,000
ST FsAY K# 242,000 172,000 70,000
Al 63,000
[ia 179,000
307 21201 A 242,000 172,000 70,000
Al 63,000
e 179,000
02 QAFAAFEX 148,000 58,000 90,000
O=2U2 2xrH Y 18,000, 000& 18,000
Al 9,000
s 9,000
o247 H17E g2t 23,000,000& 23,000
Al 7,000
[ia 16,000
OSF==23t M20& &2t 17,000, 000& 17,000
Al 4,000
s 13,000
OS24 THOHE Dl 23tna 40,000,000& 40,000
Al 20,000
[ia 20,000
ORAlL=, dESH A 50,000,000& 50,000
04 DI2ZHHALALSE E X 94,000 114,000 A 20,000
OHdEZsH 20,000,000& 20,000
Al 13,000
[ia 7,000
OHM193 3™ =0l 10,000, 000& 10,000
Al 5,000
s 5,000
OM11sl s€2 M4 E3tM 25,000,000 25,000
OMOHE Dl =01 WM& 13,000, 000& 13,000
Al 5,000
s 8,000
©<2t otolet nE0l=x & 10,000, 000& 10,000
ON202 &2 s2H 16,000, 000& 16,000
SF20i=s 2 29 2,185,539 2,292,377 A 106,838




2N S22
M 2302E U NASHIUTS
& 23AIE 2el (cho &)
SA-EB .Y (BH) - ABAY - B2 o AF o San H D2
201 Bt A | 83,000 83,000 0
02 3524l 83,000 83,000 0
o332=2 % HA 83,000
(OFsPIETE= 65,000,000& 65,000
O AlIJEA 4,000,000& 4,000
O&dt+=ER2=3 5,000,000 5,000
O s albl 9,000,000& 9,000
308 AXISHMSO0IA 650,000 553,080 96,920
10 SISO UEHE AN EAL | 650,000 553,080 96,920
OAF 3AH - MAIAY 500,000,000& 500,000
O3 U Al 150,000, 000& 150,000
39 ME= 1,304,739 1,404,327 AN 99,588
01 SAt- SHINTE= 1,304,739 1,404,327 N 99,588
o222zt 29 1,304,739,000& 1,304,739
404 SMNSHI2EEZ2 147,800 251,970 A 104,170
01 SAt-sHU=2NES 147,800 251,970 A 104,170
oOS2F2dz=s s 24 147,800,000 147,800
SF22d ¢ 143,325 149,849 NG,524
201 LEt2 Y| 1,200 1,200 0
02 35294l 1,200 1,200 0
03322 % MA 1,200
Oostea 1,200,000& 1,200
308 XX SHHSOIA 15,500 15,500 0
10 B 2SHUSEAHAE ALY 15,500 15,500 0
OFLI2LAEA 15,500,000& 15,500
39 ME= 126,625 117,149 9,476
01 SAt- SHIMNTES 126,625 117,149 9,476
os=x=232 & 29 126,625,000& 126,625
BHHlA g2 29 192,420 391,417 A 198,997
201 et A | 13,600 13,600 0
02 3524t 13,600 13,600 0
o332= % HA 13,600
(OFrsPIETr=: 13,000,000& 13,000
osdea 600,000 600
309 dE= 178,820 177,817 1,003
01 SAt- SHIANNES 178,820 177,817 1,003
ogtMAIIE2 2 178,820,000 178,820
SESI=NHEH 24 190,744 247,964 N57,220




i

<

n0
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Hl w

703

703

27,777
N2,223

H3r
Wikd
RIS

29,189
29,189

116,635
82,475

34,160

Off &t 24

29,892
29,892
29,892

17,180
7,972

1,250
1,250
1,440

480
960
800

144,412

80,252
75,932

3,600
6,000
3,000

1,800
23,100

3,600
3,600
3,600

3,600
6,000
3,000

3,600
432
10,000
1,000
4,320
1,320
3,000
34,160
30,160
24,000

1,800
1,800

160
2,400
4,000

i~

ol

04 JIZtNZ22XNSE+

)
i
i)

ol
=

%2 %125

=

=

68,720

OPIE=|

Qal
=

B *2H %58
125
& x125

68,720

00
<
ol
ok
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=2
[e]]
=
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e
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e
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5,000
5,000

00
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Kir

Ot

H+6E
S+6E

[

2l %2

[und
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40,0002
80,000
400,000

A
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o
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=
=

Jtdl

10k
R
8o

30
0B
]
ol
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01 At 22l bl
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oJ
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=
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300,000
500,000
250,000
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ar
0

10

7l
)
oJ
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2l *
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150,000
3,850,000

2 x5 2

o
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00

0
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2l x
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300,000
300,000
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o
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Ho
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2
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=

o

1,000,000

ol

Ho

<1

<d
®0

ak

2|

128
128
128

2l *

10,000
1,000,000

2l x

1«50 «123

300,000
R *3E *

1,000& »

110,000

12,000
50,000

Os2= HA
O= Al

30
0H
20
Ho

128
128
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2 %

2,000,000

no
o

K
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Zst2-Z
oo E 2 NG23/ERHF
SsiAle Bl CRED
A B O9(SA) - NRANY - BES il 2
O4dH AM&EE SX2eltl 3,000,000& 3,000
OAm2 H3S=d 1,000,000& 1,000
03 SAHZ2 ZHl 30,000 0 30,000
OJI8exzd83H 20,000,000& 20,000
OPJE=E~P=FSPN 10,000, 000& 10,000
206 M= Hl 3,000 3,000 0
01 =8l 3,000 3,000 0
OZ=z21d¥ 29 M=l 3,000,000 3,000
301 LEAZ 13,440 13,440 0
12 JIEEd = 13,440 13,440 0
OZzY 29 A&
70,000 «42F Xt +43] 1201 = 13,440
STHEESEEH 22 119,194 125,928 NG, 734
101 @14 Hl 29,892 38,506 AB,614
04 JIZtHZ22 s+ 29,892 38,506 NB,614
O MERHEH 2 29,892
OoJlzs 68,7203 x2H x125 17,180
Osd=g 68,7203 x2H 582 7,972
Oun &t 5,0003 x2H 125 1,250
o=l 5,000 «2H %1252 1,250
Ot&E=¢ 1,440
b < Xt 40,0003 «2H x6& 480
. Z=HIE 80,000 x2H 68 960
OFEFItHI 400,000& x2H *13] 800
201 ¢et24l 52,862 70,982 A 18,120
01 At 2t 2l 32,552 50,672 A 18,120
Oget=ZH| 32,552
O FHAIAE 150,000& =128 1,800
O&JIt&d 2 824 150,000& =123 1,800
OAgtotdae|Hd 22 150,000& =128 1,800
OZHOIXN sX 283 250,000& =128 3,000
OAEBE ¢ 500,000& x12& 6,000
QA2 F 7Y 1,000, 000& *43| 4,000
Ostaad & HA85 F 300,000& 123 3,600
O¥stx 4 1,000, 000& 1,000
OMER== 12,0003 x3&5+ 128 432
Os82=2 MH 1,000& *5,000% 5,000
osZzEHE 3tz 7 1,000,000& 1,000
O=ALJ| 110,000& =128 1,320
O& =2l 50,0003 =30 122 1,800
02 2324l 20,310 20,310 0




M0 MO MO

=

> 2 m
X

fo lor fo
W My 02
e
(5]
]
He
=
2
0
for
E

SH-HH . B(SH) - HBAMY - B2 o AF o San H D2

o332=2 % HA 16,310
(OFsPIETE=: 1,100,000& x12& 13,200
O&dlx==22 100,000& = 12& 1,200
oste= 100,000& x12& 1,200
ostdilEsEdg=2 80,000& x2& 160
OXNETHESH b 550,000& 550
O A& &Hl Xl 4,000
OHdE AMEZ2 | 3,000,000 3,000
OAAR2 HEx=H 1,000,000& 1,000

206 T 2 bl 3,000 3,000 0

01 & bl 3,000 3,000 0
oZz ¥ 29 Ml 3,000,000 3,000

301 dEtE X = 13,440 13,440 0

12 JIEtE &2 13,440 13,440 0

OZz )#2d ZAxxE

70,000 424 Ztx43| 1200 & 13,440

401 Al HI L 2 0HHI 20,000 0 20,000

01 A& HI 20,000 0 20,000
O=zatga=Z Al 20,000,000& 20,000

NE2F23dH 29 446,696 1,548,650 A 1,101,954

101 @121l 59,784 0 59,784

04 J|I2ZtH2ZXNEE S 59,784 0 59,784
ONSZ2HH 294 59,784
(OPIF== 68,720& *4H x 125 34,360
Osg=x=dg 68,720& x4 58 15,944
OunEH| 5,000& x4 125 2,500
OZ &l 5,000& x4% 125 2,500
OJIESY 2,880
. BH S KXt 40,0003 4G x6& 960
. =HI& 80,000& x4 6 1,920
OY &SIyl 400,000 *4H 13 1,600

201 LEt2 A Y| 370,472 102,290 268, 182

01 AR 22| I 103,912 37,880 66,032
oYt =2H| 88,792
oA EA 3,980,000 x6& 23,880
OFRQIHHAAE (HHESA 300,000& x12& 3,600
O&J|otE e e 700,000& 128 8,400
OsdIRA&L HEES 250,000& x12& 3,000
OAattordate hHesH 340,000& = 12& 4,080
OoxZdae g9sr3 500,000& *12& 6,000




F ottt
S3MsAE L NASIIBTS
23AIE 2e o M)
SA - BB B () - MM - BES Ol &t o San HmEET
Odlsgd 98 300,000& x12& 3,600
Osx=Hstztel 8d9++3  300,000& 1228 3,600
OZHOIXN SX2e 82
300,000& =122 3,600
QA E2E 7Y 1,000,000& »12& 12,000
OEAEE & 22428 7Y
300,000& »12& 3,600
OFMEILS 2,000,000& 2,000
OMER=EE 12,0002 x35+12& 432
OE2=MH 1,000& x10,000% 10,000
oz EHE 3tz 2 1,000, 000& 1,000
ogxtz 15,120
O=ALJ| 110,000& = 12& 1,320
O& =2l 50,0003 «5CH x12& 3,000
odldl 25,0003 x26CH 123 7,800
O3J1& &I 50,0003 «5CHx12& 3,000
02 2324l 106,560 54,410 52,150
oz22= & HMA 91,560
odIIe2 6,000,000& x12& 72,000
O&ol=ER=a 400,000& 123 4,800
O&EAIIARZ 400,000& x12& 4,800
Ostes 650,000 128 7,800
OCZNERES 80,000& »23| 160
Ogz2dl & ZHzatl 2,000,000& 2,000
O A& &EHl s Xl 15,000
OAM&EE8 szl 10,000, 000& 10,000
OAm2 HS =4 5,000,000& 5,000
03 A2 Z Hl 160,000 10,000 150,000
ONMEF=Z3tdlH JH2tAl 10,000, 000& 10,000
O=x& J18 24 & &HAl 150,000, 000& 150,000
206 T 2 bl 3,000 3,000 0
01 =8l 3,000 3,000 0
OZ=z21¥ 29 M=l 3,000,000& 3,000
301 LEEAS 13,440 3,360 10,080
12 JIEtE4 3 13,440 3,360 10,080
OZzY 29 A==
70,0003 =42 BH+43 1200 & 13,440
AG2stos &8s 3,597,800 3,542,200 55,600
Al 328,000
s 3,269,800
= NI &HoF S S H 2,400,000 2,400,000 0
307 2Iztol ™ 2,400,000 2,400,000 0




EX: S22
M 2302E U NASHIUTS
&4 XNFEso=zs s (cho &)
- - _ L=
SN EHD B (3H) - MEAY - BAS ol &k o8 ﬁlgﬁ HDE
05 QIZtR E 2 2,400,000 2,400,000 0
OSF M H A2 A M 2,400,000,000& 2,400,000
HEEEE AY K& 46,000 46,000 0
Al 8,000
= 38,000
307 gizto| A 46,000 46,000 0
Al 8,000
= 38,000
02 AI2AtAMAIE E =X 46,000 46,000 0
OHdE2HS HIIAHFT 16,000,000 16,000
Al 8,000
= 8,000
OOt S L MI2ERHAAUS
30,000,000 30,000
2F 3A4H QHAEZ XNH 5,000 5,000 0
307 QI2t0| ™ 5,000 5,000 0
04 SIZ2ISHAAISH E X 5,000 5,000 0
OFIAZFZ 5,000,000& 5,000
S2F A2EAHEEE I 5,000 5,000 0
307 2iz2to| & 5,000 5,000 0
04 SIZ2ISHAAISH E & 5,000 5,000 0
O&IIAFZ 3,000,000& 3,000
OO S35 2,000,000& 2,000
2F A QAAE XNE 3,000 3,000 0
307 212t0| & 3,000 3,000 0]
04 SIZ2SHAFAISHE E X 3,000 3,000 0
OFIIAZF3 3,000,000& 3,000
XNE235H0 =& AF 4 F 65,800 65,200 600
202 o4 H| 2,400 2,400 0
01 2Ll 2,400 2,400 0
O &2 bl 2,400,000 2,400
203 € R F=&d| 2,000 2,000 0
03 AIEH =X 2 F XY 2,000 2,000 0
OXNE2SH=HA R 2,000,000 2,000
204 = 2 =8 A H| 11,400 10,800 600
03 EHYFRAH| 11,400 10,800 600
ool =l 50,000& «19¥ x12& 11,400
301 et A= 50,000 50,000 0
12 JIEtE2 A= 50,000 50,000 0
OAHelZ2A H=JF = 50,000,000 50,000

_9_




2N
X ZH -
L= B

el

=

> Olon
=l
oor o,

JQ
Ho
fol
g
rz
1
Hh

= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
ZHE R oS0l AL 450,000 450,000 0
Al 200,000
s 250,000
307 gl2tol & 450,000 450,000 0
Al 200,000
s 250,000
04 DIZHHALALSE E X 450,000 450,000 0
OtE = oS0l #A 450,000,000& 450,000
Al 200,000
= 250,000
d=3 HECRSSOCIHE HAEY 160,000 160,000 0
Al 80,000
e 80,000
307 glz2+0l & 160,000 160,000 0
Al 80,000
i 80,000
04 QIZFHALAIH B = 160,000 160,000 0
Of= HNICRSSIHE HAEEH
160,000, 000& 160,000
Al 80,000
e 80,000
SOMHHAEEY 200,000 200,000 0
307 glz2tol & 200,000 200,000 0
04 QIZFHALAIH E = 200,000 200,000 0
OSMNMHHAEEY 200,000, 000& 200,000
HAN St StotHI AENH 60,000 60,000 0
307 21201 A 60,000 60,000 0
04 QIZFHALAIH B = 60,000 60,000 0
OYAM HHtel otol HAEIE 60,000,000& 60,000
HER HLE JtA 50,000 50,000 0
307 21201 A 50,000 50,000 0
04 DIZHHALALSE E X 50,000 50,000 0
OUER HRE JIHRA 50,000,000& 50,000
A= FH 50,000 50,000 0
307 gl & 50,000 50,000 0
04 DIZHHALALSE E X 50,000 50,000 0
O A= = 50,000,000& 50,000
sS4 g0 A=A 90,000 35,000 55,000
Al 40,000
e 50,000
307 glz2+ol & 90,000 35,000 55,000
Al 40,000




EX: S22
MY 2502XE U VARSI YRS
&2 NE2sols 85 (9 ® =)
- _ _ RE]
SA BB (3H) - NRAY - B Ol &F o4 %@ﬁ HRE2
o 50,000
04 QIZ2tSHALALS B = 90,000 35,000 55,000
OS2A BF20 AZBHSHA 90,000, 000& 90,000
Al 40,000
= 50,000
MZOHSIH AEY 13,000 13,000 0
307 QI2t0| & 13,000 13,000 0
02 QI2tAAMAIE E =X 13,000 13,000 0]
ONM=Z0t3tH AEY 13,000,000& 13,000
23 22l 18,520,475 22,444 361 N 3,923,886
= 9,658,666
Jl 53,000
Al 4,250,494
= 4,558,315
23N 2=22 18,207,553 22,256,959 N 4,049,406
= 9,578,100
J| 53,000
Al 4,176,766
= 4,399,687
2t S A2l 394,448 397,590 N3, 142
Al 166,114
= 228,334
101 e1214| 183,428 196, 360 N 12,932
Al 91,714
= 91,714
04 J|12ZtHIZ22NEES 183,428 196, 360 N 12,932
O23tM2eo B4(9H, 88) 183,428,000 183,428
Al 91,714
= 91,714
201 LBt 9H| 63,680 55,640 8,040
01 AP 22| d| 45,900 37,860 8,040
OYbt4=24| 33,900
O23tMetll 2l E M Z 500& 20,0005 10,000
O2sM 2elx=h 237Y 1,000,000 1,000
O23 M 22 430 ¢ 30,0002 2074 600
OS2 2 s=lE2 70,000& *103] 700
OZ2X=23M RoFH & CCTV 22| 829 %+
=2 1,800,000& ~12& 21,600
OYXB(SE M4=4E a8 HUYR)
250,000 2 43| x12& 12,000
02 232%H4| 17,780 17,780 0
02322 ¥ HA 12,780
Oshe2 165,000& ~12& 1,980
[OYSPIETE=] 800,000& x12& 9,600




SN 2s2BD
M 23 2el
el 223 BE2e (=& J)
SA - BB B () - MM - BES Ol &t o San HmEET
Ot 23 100,000& »12& 1,200
O=zstMae AMdE RAE+ 5,000,000& 5,000
202 O4dl 2,400 2,400 0
01 = LHA YI 2,400 2,400 0
O22 ol 2,400,000& 2,400
203 R =& 1,800 1,800 0
03 MM Z=XH S =AY 1,800 1,800 0
O=2Mae RFL 1,800,000 1,800
206 = Hl 8,200 8,400 A 200
01 MHZ 4l 8,200 8,400 2200
OREH & 227 22l 8,200
OM=xd |50 600,000& =128 7,200
OMZ=HM S JIEt 2el%E 7Y
1,000,000& 1,000
301 LA F 68,400 450 67,950
Al 68,400
02 Zet=e ka3 2,400 0 2,400
OAMANZBREEZaM d=Zstd XJA
2,400,000& 2,400
Al 2,400
12 JIEtE 43 66,000 0 66,000
OAMANZEREEaM dsE2sAtY
66,000,000& 66,000
Al 66,000
307 21201 A 6,000 72,000 266,000
Al 6,000
02 YAFAAFEE 6,000 72,000 266,000
OAMIXNZBREEZaM SHEBA X3 A
6,000,000& 6,000
Al 6,000
401 AIEHI L 201 60,540 60,540 0
01 A& HI 60,000 60,000 0
O=sM RAE= 60,000,000 60,000
03 AlE 2 THHI 540 540 0
Ozt RANE>= S 60,000,000 x0.9% 540
AAsSd ot 29 55,776 59,452 N 3,676
Al 27,888
e 27,888
101 @124 dl 33,916 39,272 A5,356
Al 16,958
e 16,958
4 JI12ZtHZ22XREES 33,916 39,272 A5,356




2N 2SBRD
M 23 2el
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01 Al bl 120,000 70,000 50,000
OJAHHHEXNT FXNES 120,000,000 120,000
404 SMNSHIA2EEZ 31,000 0 31,000
01 SAt- SHAH=2EE 31,000 0 31,000
OENME THHE H A 31,000,000& 31,000
SJI|0t2 ,372,013 4,359,404 AN 1,987,391
Dl 50,000
Al 114,500
= ,207,513
lotg 29 995,059 743,075 251,984
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OouzE #=8 12,000& x3& 122 432
oYXz 3,564
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01 M= Hl 20,000 0 20,000
O Hl 20,000

_29_




SN 2322
Hu: PRAE Y BBIE N
ool 2II0E EERED
SN EH - (EH) - HRAY - BES 0] &k o4 il Hl D2
O2JI=AH ME=Zz 18 2% 10,000,0002 10,000
Ogst T2y 29 10,000,000 10,000
301 YBB A 32,400 32,400 0
12 B2 A2 32,400 32,400 0
OSBIHAA &Y 50,0002 x22*27L 128 32,400
401 Al EHI L 20l 65,000 0 65,000
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O2222 ¥ MA 1,200
OE2E2 235 UL 100,000 * 122 1,200
250 YUs 2 IFIRIY 29 A 100,000 100,000 0
307 21201 & 100,000 100,000 0
02 DIIAMAHEE 100,000 100,000 0
O8II0t2 280 Y= ¢ JHT2 O
100,000, 0002 100,000
MESII0IS 6XMY TRME (MEBAY) 298,000 298,000 0
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OsxE 1,440
. <Xt 40,0003 x2H 6 480
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ZHlI= 80,0003 x14H «8& 8,960
OZEFOtHI 400,000 x14Y 13 5,600
o1l =l 130,000& 14 x 13| 1,820
201 L2l 175,200 195,200 220,000
01 At 22l 155,200 165,200 0
O el 155,200
OclEs 8 ¢ 822 MA  15,000,000& 15,000
OJIZEs &8 72 50,000, 000& 50,000
OMEANE 28 228 +Y
700,000& x12& 8,400
OAMZZSES 2SS MEIA MEZ
150,000& = 12& 1,800
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2N S22
Ny BEIE Y RN Y
SRl MolBRRIR G (29 a8)
SH-HH . B(SH) - HBAMY - B2 o AF o San H D2
OEBS HEEH AIE= 30,000,000& 30,000
OB &z gds2na 50,000,000& 50,000
02 3524l 10,000 30,000 A 20,000
OME AL &HbEl SXNES 10,000, 000& 10,000
03 S AIS H H| 10,000 10,000 0
OO0IHIE L XNES#HA T2 18 29
10,000,000& 10,000
401 Al HI L £ 0HHI 130,000 0 130,000
01 A& Hl 130,000 0 130,000
OHIM M2 12 22 MEgAHZ 2t 74 130,000
O& A& A HI 10,000,000& 10,000
O Z Akt 120,000,000 120,000
405 XtabF SHI 90,000 0 90,000
01 A&t =S F SHI 90,000 0 90,000
OHIMM HE2d 2EI|X +L 90,000,000& 90,000
FJegdo A JAFHE2R 2H 117,978 25,000 92,978
101 @121l 59,578 0 59,578
04 JI2ZtH 22 XNHEE 59,578 0 59,578
OWRMEZE 29 59,578
oJN=3 68,7203 *3H 167 34,429
Osgexd 68,7203 *3H x76 15,669
O =&l 5,000& x3% 167 2,505
OuWEH| 5,000& *x3H 167 2,505
oz 2,880
. BHS Xt 40,0003 *3H x8& 960
. =S 80,000% x3H x8& 1,920
(@F=FSE=l 3] 400,000& *3H 13| 1,200
o1l = bl 130,000& *3Y x 13| 390
201 LEt2 Y| 28,400 0 28,400
01 AFR2t2l Yl 13,400 0 13,400
oget+2H| 13,400
OclE8s 8 ol 22 H& 5,000,000& 5,000
ONMEANE 28 A28 7¢
700,000& 128 8,400
02 53294l 15,000 0 15,000
ONMEANAE EH SXNE= 15,000,000& 15,000
405 XtabF SHI 30,000 25,000 5,000
01 A&t =S F SHI 30,000 25,000 5,000
OVRMEZE ME&EH F¢ 30,000,000& 30,000
EBSS BMGHE 252 QT &HE 340,000 400,000 A60,000
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2N
X ZH -
L= B

el

(R = I

Stk
2UE E 2FTE N
otz & Xt st

= - — SHE]|
SN HE B (BH) - MR - BES e bl D=2t
403 UHXSHHSA=0l& 340,000 400,000 A 60,000
02 SO 2SOCHst 2 X 2 A I 340,000 400,000 A 60,000
OEBSet S Mot= Estatd =gt &=
340,000,000 340,000
dgoA SEg2atE2 ZHAMY ,005,000 0 2,005,000
401 AIEHIZ 28I ,005,000 0 2,005,000
01 A& Hl ,005,000 0 2,005,000
O0IdEW 22X « 2142 e
2,005,000, 000& ,005,000
HE2IZH (2st22 ) 941,811 1,045,000 A 103,189
A2 (2322 1) 836,043 947,308 A 111,265
A2l (S22 ) 836,043 947,308 A 111,265
101 14l 812,890 923,210 A 110,320
01 2= 125,648 109,450 16,198
OAZAZ22=Z 11,6343 «50A1 2t+18H 122 125,648
02 JIEt A2+ 686,982 813,500 N 126,518
OANZLAZ RS (LB IIA)
11,6342 x50A1 2t +2H < 12& 13,961
Os= (ANLEEHYIM TZ)
42,000,000 3 126,000
Os= (ANLEYIA OtZ)
32,000,000& x12H 384,000
O=Z (AN2AEEHAIH) 73,098
Oonsxe 21,600
HH < Kt 40,0003 x15H 128 7,200
. EHIE 80,0003 x15H 128 14,400
O MG Al 130,000 =15 »12& 23,400
OXtHEH XY 28,098
. UESE 468,300& x15H *4 3| 28,098
O I &l
510,000,000 *1/12%86%*84%*1/30*1/7*140Al 20,468
2t
QA 22 (A HADIM THS)
10,5093 x25A 2t x3H x 128 9,459
OAZtZ2R2Z (A KA OtZ)
8,528% *25 A 2t 12 » 12 30,701
OS2 (AN ADIM TUS)
42,000,000% /122 x84%*5%*3H «12& 5,292
OS2 (AN ADIM O0t2)
32,000,000 /128 *84%*5%* 12 x12& 16,128
OSHUSAH (U BSH)
50,000& *35/40% 15 » 128 7,875
03 RIAHAAZZRHE > 260 260 0
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fAH: S2st22 1
M HHS A (2TB )
thel: JEA2IH| (2522 0t) (Sl & &)
5 - 4
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
O2J1gE2 AML2eY I=H| 260
o= 80,0003 1 x23| 160
Ootd 3t 50,000& 1 »23] 100
204 A=A H| 23,153 24,098 A 945
02 22 =4 23,153 24,098 A 945
OAZEEJDIH T2
155,000 *35/40%3H « 128 4,883
OAIZEEAIH Ot=
145,000 *35/40%12H « 128 18,270
Jledul(S2st22) 105,768 97,692 8,076
gyl (Ssr2 &) 105,768 97,692 8,076
201 ¢4l 39,828 37,332 2,496
01 At 2t 2l 39,828 37,332 2,496
OBt~ 13,620
OSHMM2S 13,620, 000& 13,620
o=l 8,000 «21H 134 12& 26,208
202 04l 60,480 54,720 5,760
01 = LH o4 1l 60,480 54,720 5,760
O 2L o H 240,000& *21H +12& 60,480
203 ¥R =&l 5,460 5,640 A 180
04 FEANSEHE=LH 5,460 5,640 A 180
ORN2IEYRF=AHI 455,000& 123 5,460
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